

Non-self mappings in modular spaces and common fixed point theorems

Research Article

Abdolrahman Razani^{1,2*}, Valdimir Rakočević^{3†}, Zahraa Goodarzi¹

1 Department of Mathematics, Faculty of Science, Imam Khomeini International University, Qazvin, Iran

2 School of Mathematics, Institute for Research in Fundamental Sciences, Tehran, Iran

3 Faculty of Sciences and Mathematics, University of Niš, Niš, Serbia

Received 18 October 2008; accepted 6 January 2010

Abstract: The aim of this paper, is to introduce the convex structure (specially, Takahashi convex structure) on modular spaces. Moreover, we are interested in proving some common fixed point theorems for non-self mappings in modular space.

MSC: 47H10, 46A80, 47H09, 54H25

Keywords: Takahashi convex modular space • Non-self mappings • Common fixed point

© Versita Sp. z o.o.

1. Introduction

Generalization of the classic function spaces L^p has been a problem that mathematician dealt with for almost fifty years. First attempts made by Orlicz and Birnbaum. This generalization found many applications in differential and integral equations with kernels of non-power types. Nakano [7] gave more abstract generalization which was based on replacing the particular integral form of the functional by an abstractly one that satisfy some good properties. This functional was called a modular. Totaly, theory of modular spaces is introduced by Nakano [7] in relation to ordered space theory and is generalized by Musielak and Orlicz [6]. The purpose of this paper is, introducing Takahashi convex modular space and generalizing fixed point theorems of Jungck [4], [5], Ćirić [1], Das and Naik [2] and Ume [9] on ρ -complete modular space. In order to do this, we recall the definition of modular spaces as follows:

Definition 1.1.

Let X be an arbitrary vector space over $K(= R$ or $C)$.

* E-mail: razani@ikiu.ac.ir

† E-mail: vrakoc@bankerinter.net

(a) Functional $\rho : X \rightarrow [0, \infty)$ is called *modular* if:

- (I) $\rho(x) = 0$ if and only if $x = 0$.
- (II) $\rho(kx) = \rho(x)$ for all k with $|k| = 1$, for all $x \in X$.
- (III) $\rho(kx + ly) \leq \rho(x) + \rho(y)$ for all $x, y \in X$ for all $k, l \geq 0$ where $k + l = 1$.

(b) If (III) is replaced by:

$$(III)' \quad \rho(kx + ly) \leq k^s \rho(x) + l^s \rho(y) \text{ for all } k, l \geq 0 \text{ where } k^s + l^s = 1 \text{ with an } s \in (0, 1].$$

The modular ρ is called an *s-convex modular*; and if $s = 1$, ρ is called *convex modular*.

(c) Modular ρ defines a corresponding modular space, i.e. the space X_ρ given by:

$$X_\rho = \{x \in X : \rho(\lambda x) \rightarrow 0 \text{ as } \lambda \rightarrow 0\}.$$

We recall the following definition.

Definition 1.2.

Let X be a vector space on R . A functional $\|\cdot\| : X \rightarrow [0, \infty)$ is called a *F-norm* if for arbitrary $x, y \in X$:

- (i) $\|x\| = 0$ if and only if $x = 0$.
- (ii) $\|\alpha x\| = \|x\|$ if α is a scalar and $|\alpha| = 1$.
- (iii) $\|x + y\| \leq \|x\| + \|y\|$.
- (iv) $\|\alpha_k x_k - \alpha x\| \rightarrow 0$ if $\alpha_k \rightarrow \alpha$ and $\|x_k - x\| \rightarrow 0$, where $\{x_k\}$ is a sequence of elements from X .

It is clear, any *F-norm* $\|\cdot\|$ can be regarded as a modular space provided $\alpha \rightarrow \|\alpha x\|$ is increasing for every $x \in X$. A modular space X_ρ can be equipped with an *F-norm* defined by

$$\|x\|_\rho = \inf\{\alpha > 0 : \rho(\alpha^{-1}x) \leq \alpha\}.$$

In the case of an *s-convex modular space* ρ , the formula

$$\|x\|_\rho = \inf\{\alpha^s > 0 : \rho(x/\alpha) \leq 1\}.$$

define a *s-norm* (a *F-norm* with the additional property $\|\alpha x\| = |\alpha|^s \|x\|$).

Example 1.1.

Let $(X, \|\cdot\|)$ be a norm space, then $\|\cdot\|$ is a modular. But the converse is not true.

Example 1.2.

Let $(X, \|\cdot\|)$ be a norm space. For any $k \geq 1$, $\|\cdot\|^k$ is a modular on X .

Example 1.3 (Musielak-Orlicz modular space).

Let

$$\rho(f) = \int_{\Omega} \varphi(w, f(w)) d\mu(w),$$

where μ is a σ -finite measure on Ω and $\varphi : \Omega \times R \rightarrow [0, \infty)$ satisfy the following conditions:

- (i) $\varphi(w, u)$ is a continuous even function of u which is nondecreasing for $u > 0$, such that $\varphi(w, 0) = 0$, $\varphi(w, u) > 0$ for $u \neq 0$ and $\varphi(w, u) \rightarrow \infty$ as $u \rightarrow \infty$.

(ii) $\varphi(w, u)$ is measurable function of w for each $u \in R$.

The corresponding modular space is called a *Musiela-Orlicz (or a generalized Orlicz) modular function space*, and is denoted by L^φ . If φ does not depend on the first variable, then L^φ is called an *Orlicz space*. An example of functions which satisfies the above conditions, is given by

$$\varphi(u) = |u|^p, \quad \text{for } p > 0.$$

Then L^φ is isomorphic to L^p .

Definition 1.3.

Let X_ρ be a modular space.

(a) Sequence x_n in X_ρ is called:

- (I) ρ -Cauchy if $\rho(x_n - x_m) \rightarrow 0$ as n and m go to ∞ .
- (II) ρ -convergent to $x \in X_\rho$ if $\rho(x_n - x) \rightarrow 0$ as $n \rightarrow \infty$.

(b) X_ρ is ρ -complete if any ρ -Cauchy sequence is ρ -convergent.

(c) A subset $B \subset X$ is called ρ -closed, if for any sequence $(x_n)_n \subset B$ where $x_n \rightarrow x$ then $x \in B$. \bar{B}^ρ denotes the closure of B in the sense of ρ .

(d) A subset $B \subset X_\rho$ is called ρ -bounded if $\delta_\rho(B) = \sup \rho(x - y) < \infty$ for all $x, y \in B$. $\delta_\rho(B)$ is called the ρ -diameter of B .

(e) ρ is said to have *Fatou property* if:

$$\rho(x - y) \leq \liminf \rho(x_n - y_n),$$

whenever $x_n \rightarrow x$ and $y_n \rightarrow y$ as $n \rightarrow \infty$.

(f) ρ is said to satisfy the Δ_2 -condition if:

$$\rho(2x_n) \rightarrow 0 \quad \text{as } n \rightarrow \infty \quad \text{whenever } \rho(x_n) \rightarrow 0 \quad \text{as } n \rightarrow \infty.$$

Definition 1.4.

A function $f : X_\rho \rightarrow X_\rho$ is called ρ -continuous, if $\rho(x_n - x) \rightarrow 0$, then $\rho(f(x_n) - f(x)) \rightarrow 0$.

Definition 1.5.

Assume X_ρ is a modular space. For $x, y \in X_\rho$, define

$$\text{seg}[x, y] = \{z \in X_\rho : z = (1 - t)x + ty, \quad 0 \leq t \leq 1\}.$$

Definition 1.6.

Let X_ρ be a modular space and I be the closed unit interval. A mapping $W : X_\rho \times X_\rho \times I \rightarrow X_\rho$ (that $X_\rho \times X_\rho$ is a product modular space with product topology) is called a *convex structure on X_ρ* , if (III) is replaced by:

$$\rho(W(x, y, \lambda)) \leq \lambda\rho(x) + (1 - \lambda)\rho(y),$$

for all $x, y \in X_\rho$ and $\lambda \in I$.

X_ρ together with a convex structure is called a *Takahashi convex modular space*.

Remark 1.1.

Clearly, any convex modular space is a Takahashi convex modular space with $W(x, y, \lambda) = \lambda x + (1 - \lambda)y$.

Definition 1.7.

Let X_ρ be a Takahashi convex modular space. For $x, y \in X_\rho$, define

$$\text{seg}[x, y] = \{W(x, y, \lambda) | \lambda \in [0, 1]\}.$$

It is worth mentioning to state two propositions from [3], which will be used in the next section to prove Theorems 2.1 and 2.2.

Proposition 1.1.

If (X_ρ, ρ) is a Takahashi convex modular space with convex structure W , then for every $x, y \in X_\rho$ and every $\lambda \in [0, 1]$

$$\rho(W(x, y, \lambda)) \leq \max\{\rho(x), \rho(y)\}.$$

Proof. Because (X_ρ, ρ) is a Takahashi convex modular space with convex structure W , then for every $x, y \in X_\rho$ and every $\lambda \in [0, 1]$ we have:

$$\begin{aligned} \rho(W(x, y, \lambda)) &\leq \lambda\rho(x) + (1 - \lambda)\rho(y) \\ &\leq (\lambda + (1 - \lambda)) \max\{\rho(x), \rho(y)\} \\ &= \max\{\rho(x), \rho(y)\}. \end{aligned}$$

□

Proposition 1.2 ([3]).

Let K be a nonempty closed subset of the Takahashi convex modular space with convex structure W that is continuous on its third variable. Let $x \in K$ and $y \notin K$. Then there exists $\lambda \in [0, 1]$ such that

$$W(x, y, \lambda) \in \text{seg}[x, y] \cap \partial K.$$

L. B. Ćirić [1] has proved fixed point theorem for quasi contraction non-self mappings on Banach spaces. Afterward, common fixed point theorem for some of mappings that satisfy special property by K. M. Das and K. V. Naik are stated. Indeed, our main results are generalization of Theorems [8].

2. Main result

In this section, we prove some common fixed point theorems in modular space.

Theorem 2.1.

Let X_ρ be a ρ -complete modular space where ρ satisfies the Δ_2 -condition, C a nonempty ρ -closed subset of X_ρ and $\partial C \neq \emptyset$ (boundary of C). Suppose $g : C \rightarrow X_\rho, f : X_\rho \rightarrow X_\rho, f(C) \subset C$ and f is ρ -continuous. Moreover, assume f and g satisfy the following conditions.

1) There exists a constant $\lambda \in (0, 1)$ such that for every $x, y \in C$:

$$\rho(l(g(x) - g(y))) \leq \lambda M(x, y) \text{ for all } l \geq 1,$$

where

$$M(x, y) = \max\{\rho(f(x) - f(y)), \rho(f(x) - g(x)), \rho(f(y) - g(y)), \rho(f(y) - g(x)), \rho(f(x) - g(y))\}.$$

2) f and g are ρ -commutative on their coincidence points.

3) $g(C) \cap C \subset f(C)$.

4) $g(\partial C) \subset C$.

5) $f(\partial C) \supset \partial C$.

6) $f(C)$ is ρ -closed.

Then f and g have a unique common fixed point in C .

Proof. Assume $x_0 \in \partial C$, we construct a sequence x_n of points in C as follows: Assumption (4) shows $g(x_0) \in C$. Then by (3), there is $x_1 \in C$ such that $f(x_1) = g(x_0)$. Now, $g(x_1)$. If $g(x_1) \in C$ again by (3) there is $x_2 \in C$ such that $f(x_2) = g(x_1)$. If $g(x_1) \notin C$, by (5), there is $x_2 \in \partial C$ such that

$$f(x_2) \in \partial C \cap [f(x_1), g(x_1)].$$

Hence, by induction one can construct a sequence $\{x_n\}$ of points in C as follows:

If $g(x_n) \in C$, then by (3)

$$f(x_{n+1}) = g(x_n) \text{ for some } x_{n+1} \in C.$$

If $g(x_n) \notin C$, then by (5) pick $x_{n+1} \in \partial C$ such that

$$f(x_{n+1}) \in \partial C \cap \text{seg}[f(x_n), g(x_n)].$$

Now, it is enough to show, $\{f(x_n)\}$ and $\{g(x_n)\}$ are ρ -Cauchy sequences. Due to this, we need to prove if $f(x_{n+1}) \neq g(x_n)$, then $f(x_n) = g(x_{n-1})$. Assume to the contrary that $f(x_n) \neq g(x_{n-1})$, then $x_n \in \partial C$, and by (3), $g(x_n) \in C$. Hence $f(x_{n+1}) = g(x_n)$, and this contradicting the assumption. In order to prove ρ -Cauchy of the sequences, one can apply the following notations:

$$\begin{aligned} B(n, k) &= \{f(x_j), g(x_j) : n \leq j \leq n + k\}, \\ B(n) &= \{f(x_j), g(x_j) : n \leq j\}, \\ b(n, k) &= \sup\{\rho(x - y) : x, y \in B(n, k)\}, \\ b(n) &= \sup\{\rho(x - y) : x, y \in B(n)\}. \end{aligned}$$

Note that $b(n, k)_{k \rightarrow \infty} \uparrow b(n)$ and $b(n) \downarrow$. Hence $b = \lim_{n \rightarrow \infty} b(n) \geq 0$ exists. We claim that

$$b(n, k) \leq \lambda b(n - 2, k + 2) \quad n, k \geq 2. \tag{1}$$

In order to show the above inequality, we have to consider three cases as follows:

l) $b(n, k) = \rho(f(x_i) - g(x_j))$, for $n \leq i, j \leq n + k$. Then according to the definition of $b(n, k)$, we have two cases:

a) $f(x_i) = g(x_{i-1})$, then

$$\begin{aligned} b(n, k) &= \rho(g(x_{i-1}) - g(x_j)) \\ &\leq \rho(l(g(x_{i-1}) - g(x_j))) \\ &\leq \lambda M(x_{i-1}, x_j) \\ &\leq b(n - 2, k + 2). \end{aligned}$$

b) If $f(x_i) \neq g(x_{i-1})$, then by the pervious argument, $f(x_{i-1}) = g(x_{i-2})$. Since

$$f(x_i) \in \text{seg}[f(x_{i-1}), g(x_{i-1})] = \text{seg}[g(x_{i-2}), g(x_{i-1})],$$

then by Proposition 1.1, we have

$$\begin{aligned} b(n, k) = \rho(f(x_i) - g(x_j)) &\leq \max\{\rho(g(x_{i-2}) - g(x_j)), \rho(g(x_{i-1}) - g(x_j))\} \\ &\leq \max\{\rho(l(g(x_{i-2}) - g(x_j))), \rho(l(g(x_{i-1}) - g(x_j)))\} \\ &\leq \lambda \max\{M(x_{i-2}, x_j), M(x_{i-1}, x_j)\} \\ &\leq \lambda b(n - 2, k + 2). \end{aligned}$$

II) $b(n, k) = \rho(f(x_i) - f(x_j))$, for $n \leq i, j \leq n+k$. If $f(x_j) = g(x_{j-1})$ then we go back to the case (I). Otherwise, $f(x_j) \neq g(x_{j-1})$ for $j \geq 2$ then $f(x_{j-1}) = g(x_{j-2})$. Since $f(x_j) \in \partial C \cap \text{seg}[g(x_{j-2}), g(x_{j-1})]$. Then

$$\begin{aligned} b(n, k) &= \rho(f(x_i) - f(x_j)) \\ &\leq \max\{\rho(f(x_i) - g(x_{j-2})), \rho(f(x_i) - g(x_{j-1}))\} \end{aligned}$$

and this shows that case II reduces to case I and inequality (1) is hold.

III) $b(n, k) = \rho(g(x_i) - g(x_j))$, for $n \leq i, j \leq n+k$. The inequality (1) is hold.

By taking limit of inequality (1) when $k \rightarrow \infty$, we obtain $b(n) \leq \lambda b(n-2)$, and by taking limit when $n \rightarrow \infty$, we have $b \leq \lambda b$. But this shows $b = 0$.

By the definition of $b(n)$ and $b(n, k)$, one can conclude $\{f(x_n)\}$ and $\{g(x_n)\}$ are ρ -Cauchy sequences.

Since $f(x_n) \in C$ and C is ρ -closed, then $\lim_{n \rightarrow \infty} f(x_n) = y \in C$. Moreover, $\rho(f(x_n) - g(x_n)) \leq b(n)$ and $b(n) \rightarrow 0$ when $n \rightarrow \infty$, then $\rho(f(x_n) - g(x_n)) \rightarrow 0$ when $n \rightarrow \infty$. Thus

$$\begin{aligned} \rho(g(x_n) - y) &= \rho(g(x_n) - f(x_n) + f(x_n) - y) \\ &= \rho(1/2(2(g(x_n) - f(x_n))) + 1/2(2(f(x_n) - y))) \\ &\leq \rho(2(g(x_n) - f(x_n))) + \rho(2(f(x_n) - y)). \end{aligned}$$

By applying the Δ_2 -condition, we have $g(x_n) \rightarrow y$ when $n \rightarrow \infty$. Since $f(C)$ is ρ -closed, there exists $u \in C$ such that $y = f(u)$. Now, there is a subsequence $\{u_n\}$ of $\{x_n\}$ such that

$$\begin{aligned} \rho(g(u) - g(u_{n-1})) &\leq \rho(l(g(u) - g(u_{n-1}))) \\ &\leq M(u, u_{n-1}). \end{aligned}$$

By the definition of $M(u, u_{n-1})$, one can obtain

$$g(u) = f(u) = y.$$

Moreover, the ρ -commutativity implies that

$$fg(u) = gf(u) = gg(u),$$

and

$$\begin{aligned} \rho(gg(u) - g(u)) &\leq \rho(l(gg(u) - g(u))) \\ &\leq \lambda M(g(u), u) \\ &= \lambda \rho(gg(u) - g(u)). \end{aligned}$$

Thus $\rho(gg(u) - g(u)) = 0$. Therefore $gg(u) = g(u)$. Since $fg(u) = gg(u)$, then $g(u)$ is a fixed point of f . But $g(u)$ is a fixed point of g . Therefore, $g(u)$ is a common fixed point of f and g .

In order to prove the uniqueness, assume $z \in C$ is another common fixed point of f and g , i.e. $f(z) = g(z) = z$. Thus

$$\begin{aligned} \rho(z - g(u)) &= \rho(g(z) - gg(u)) \\ &\leq \rho(l(g(z) - gg(u))) \\ &\leq \lambda \rho(z - g(u)). \end{aligned}$$

Then $\rho(z - g(u)) = 0$. This means that $z = g(u)$ and the common fixed point $g(u)$ is unique. □

Theorem 2.2.

Let X_ρ be a ρ -complete modular space with Takahashi convex structure (i.e. $W : X_\rho \times X_\rho \times I \rightarrow X_\rho$) such that W is continuous in third variable and $W(x, y, \lambda) - z = W(x - z, y - z, \lambda)$ for all $x, y, z \in X_\rho$ and $\lambda \in [0, 1]$. Also, ρ has Fatou property. Assume C is a nonempty ρ -closed subset of X_ρ and $\partial C \neq \emptyset$ (boundary of C). Suppose $g : C \rightarrow X_\rho$, $f : X_\rho \rightarrow X_\rho$, $f(C) \subset C$ and f is ρ -continuous. Moreover, let f and g satisfy the following conditions:

1) There exists a constant $\lambda \in (0, 1)$ such that for every $x, y \in C$

$$\rho(g(x) - g(y)) \leq \lambda M(x, y)$$

where

$$M(x, y) = \max\{\rho(f(x) - f(y)), \rho(f(x) - g(x)), \rho(f(y) - g(y)), \rho(f(y) - g(x)), \rho(f(x) - g(y))\}.$$

2) f and g are ρ -Commutative on their coincidence points.

3) $g(C) \cap C \subset f(C)$.

4) $g(\partial C) \subset C$.

5) $f(C)$ is ρ -closed.

Then f and g have a unique common fixed point in C .

Proof. Assume $x_0 \in \partial C$, we construct a sequence x_n of points in C as follows: Assumption (4) shows $g(x_0) \in C$. Then (3) implies that there is $x_1 \in C$ such that $f(x_1) = g(x_0)$. Now consider $g(x_1)$. If $g(x_1) \in C$ again by (3) there is $x_2 \in C$ such that $f(x_2) = g(x_1)$. If $g(x_1) \notin C$, because W is continuous in third variable, there is $\lambda_{11} \in [0, 1]$ such that

$$W(f(x_1), g(x_1), \lambda_{11}) \in \partial C \cap \text{seg}[f(x_1), g(x_1)].$$

By (2) there is $x_2 \in \partial C$ such that $f(x_2) = W(f(x_1), g(x_1), \lambda_{11})$. Hence, by induction we construct a sequence x_n of points in C as follows: If $g(x_n) \in C$, then by (3)

$$f(x_{n+1}) = g(x_n) \text{ for some } x_{n+1} \in C.$$

If $g(x_n) \notin C$, then there is $\lambda_{nn} \in [0, 1]$ such that

$$W(f(x_n), g(x_n), \lambda_{nn}) \in \partial C \cap \text{seg}[f(x_n), g(x_n)]$$

and there is $x_{n+1} \in \partial C$ such that $f(x_{n+1}) = W(f(x_n), g(x_n), \lambda_{nn})$. Now, it is enough to show $\{f(x_n)\}$ and $\{g(x_n)\}$ are ρ -Cauchy sequences. Due to this, we need to prove $f(x_{n+1}) \neq g(x_n)$ then $f(x_n) = g(x_{n-1})$. By contrary $f(x_n) \neq g(x_{n-1})$, then $x_n \in \partial C$ and by (3), $g(x_n) \in C$. Hence $f(x_{n+1}) = g(x_n)$, and this is a contradiction. In order to prove ρ -Cauchy of the sequences, one can apply the following notations:

$$\begin{aligned} B(n, k) &= \{f(x_j), g(x_j) : n \leq j \leq n + k\}, \\ B(n) &= \{f(x_j), g(x_j) : n \leq j\}, \\ b(n, k) &= \sup\{\rho(x - y) : x, y \in B(n, k)\}, \\ b(n) &= \sup\{\rho(x - y) : x, y \in B(n)\}. \end{aligned}$$

Note that $b(n, k)_{k \rightarrow \infty} \uparrow b(n)$ and $b(n) \downarrow$. Hence $b = \lim_{n \rightarrow \infty} b(n) \geq 0$ exists. To see that $f(x_n)$ and $g(x_n)$ are ρ -Cauchy sequences, it is enough to show that $b = 0$. We claim that

$$b(n, k) \leq \lambda b(n - 2, k + 2) \quad n, k \geq 2. \tag{2}$$

In order to show the above inequality, we have to consider three cases as follows:

1) $b(n, k) = \rho(f(x_i) - g(x_j))$ for, $n \leq i, j \leq n + k$ we have two cases:

a) $f(x_i) = g(x_{i-1})$

$$\begin{aligned} b(n, k) &= \rho(g(x_{i-1}) - g(x_j)) \\ &\leq \lambda M(x_{i-1}, x_j) \\ &\leq b(n - 2, k + 2). \end{aligned}$$

b) $f(x_i) \neq g(x_{i-1})$, then by the previous argument $f(x_{i-1}) = g(x_{i-2})$. Then, there exists $\lambda_{i-1i-1} \in [0, 1]$ such that $f(x_i) = W(f(x_{i-1}), g(x_{i-1}), \lambda_{i-1i-1})$. Thus by Proposition 1.1, we have

$$\begin{aligned} b(n, k) &= \rho(f(x_i) - g(x_j)) \\ &= \rho(W(f(x_{i-1}), g(x_{i-1}), \lambda_{i-1i-1}) - g(x_j)) \\ &= \rho(W(g(x_{i-2}) - g(x_j), g(x_{i-1}) - g(x_j), \lambda_{i-1i-1})) \\ &\leq \max\{\rho(g(x_{i-2}) - g(x_j)), \rho(g(x_{i-1}) - g(x_j))\} \\ &\leq \lambda \max\{M(x_{i-2}, x_j), M(x_{i-1}, x_j)\} \\ &\leq \lambda b(n - 2, k + 2). \end{aligned}$$

II) $b(n, k) = \rho(f(x_i) - f(x_j))$, for $n \leq i, j \leq n + k$. If $f(x_j) = g(x_{j-1})$ then we go back to the case I. Otherwise,

$$f(x_j) \neq g(x_{j-1}) \quad j \geq 2 \text{ then } f(x_{j-1}) = g(x_{j-2}),$$

and we have

$$f(x_j) = W(g(x_{j-2}), g(x_{j-1}), \lambda_{j-1j-1}) \in \partial C \cap \text{seg}[g(x_{j-2}), g(x_{j-1})].$$

Therefore

$$\begin{aligned} b(n, k) &= \rho(f(x_i) - f(x_j)) \\ &\leq \max\{\rho(f(x_i) - g(x_{j-2})), \rho(f(x_i) - g(x_{j-1}))\}, \end{aligned}$$

and case II reduces to I and inequality (2) is hold.

III) $b(n, k) = \rho(g(x_i) - g(x_j))$ for $n \leq i, j \leq n + k$. The inequality 2 is hold.

By taking limit of inequality (2) when $k \rightarrow \infty$, $b(n) \leq \lambda b(n - 2)$, and when $n \rightarrow \infty$, $b \leq \lambda b$. This means that $b = 0$. By the definition of $b(n)$ and $b(n, k)$, one can conclude $\{f(x_n)\}, \{g(x_n)\}$ are ρ -Cauchy sequences.

Since $f(x_n) \in C$ and C is ρ -closed subset X_ρ , then $\lim_{n \rightarrow \infty} f(x_n) = y \in C$. Moreover, $\rho(f(x_n) - g(x_n)) \leq b(n)$ and $b(n) \rightarrow 0$ when $n \rightarrow \infty$, then $\rho(f(x_n) - g(x_n)) \rightarrow 0$ when $n \rightarrow \infty$. Therefore, since ρ has Fatou property, we conclude $g(x_n) \rightarrow y$.

Moreover, since $f(C)$ is ρ -closed, there exists $u \in C$ such that $y = f(u)$. Now, there is a subsequence u_n of x_n such that

$$\rho(g(u) - g(u_{n-1})) \leq M(u, u_{n-1}).$$

Hence,

$$g(u) = f(u) = y.$$

Moreover, because f and g are ρ -commutative in coincidence points, we conclude

$$gf(u) = fg(u) = gg(u),$$

and

$$\rho(g(u) - gg(u)) \leq \lambda M(u, g(u)).$$

Then

$$\rho(g(u), gg(u)) = 0 \rightarrow g(u) = gg(u).$$

This means that $gf(u) = fg(u) = gg(u) = g(u)$, so $g(u)$ is a common fixed point of f and g . Uniqueness is trivial to see. □

We end this section by the next example:

Example 2.1.

Let $X = (0, \infty)$, define modular $\rho : Y \rightarrow [0, \infty)$ as follows:

$$\rho(f) = \int_0^{\infty} |f(x)|^{x+1} dx,$$

where Y is the set of measurable functions $f : X \rightarrow \mathbb{R}$. Suppose B be the set of ρ -continuous function f on X such that $0 \leq f(x) \leq 1/2$. It is clear that B is a ρ -closed subset of Y_ρ . Now, define two operators $T^* : B \rightarrow Y_\rho$ and $T : Y_\rho \rightarrow Y_\rho$ by the following formulas:

$$T^*(f)_x = \begin{cases} f(x-1), & x \geq 1, \\ 0, & x \in [0, 1), \end{cases}$$

and

$$T(f)_x = \begin{cases} f(x), & x \geq 1, \\ 0, & x \in [0, 1). \end{cases}$$

We claim that for all $f, g \in B$,

$$\rho(T^*(f) - T^*(g)) \leq 1/2 \rho(T(f) - T(g)).$$

Indeed,

$$\begin{aligned} \rho(T^*(f) - T^*(g)) &= \int_0^{\infty} |T^*(f)_x - T^*(g)_x|^{x+1} dx \\ &= \int_1^{\infty} |f(x-1) - g(x-1)|^{x+1} dx \\ &= \int_0^{\infty} |f(x) - g(x)|^{x+1} |f(x) - g(x)| dx \\ &\leq 1/2 \int_0^{\infty} |f(x) - g(x)|^{x+1} dx \\ &= 1/2 \rho(T(f) - T(g)). \end{aligned}$$

Also, it is easily to see, this modular satisfies in Δ_2 -condition and the corresponding modular space is ρ -complete. Moreover, it is straightforward to show which all of conditions of Theorem 2.1 hold in this example. Thus according to Theorem 2.1, T and T^* have a unique common fixed point in B , and it is simple to verify that zero function is a common fixed point of these functions.

Acknowledgements

The first author would like to thank the School of Mathematics, Institute for Research in Fundamental Sciences, Tehran, Iran, for supporting this research (Grant No. 88470119). Moreover, the second author would like to thank the Ministry of Science, Technology and Development, Republic of Serbia for supporting this research (by Grant No. 144003).

References

- [1] Ćirić L.B., A generalization of Banach's contraction principle, Proc. Amer. Math. Soc., 1974, 45, 267–237
- [2] Das M., Naik K.V., Common fixed point theorems for commuting maps on a metric space, Proc. Amer. Math. Soc., 1979, 77(3), 369–373
- [3] Gajić L., Quasi-contractive nonself mappings on Takahashi convex metric spaces, Novi Sad J. Math., 2000, 30, 41–46

- [4] Jungck G., Commuting mappings and fixed point, *Amer. Math. Monthly*, 1976, 83, 261–263
- [5] Jungck G., Compatible mappings and common fixed point, *Int. J. Math. Math. Sci.*, 1986, 9, 771–779
- [6] Musielak J., Orlicz W., On modular spaces, *Studia Math.*, 1959, 18, 49–65
- [7] Nakano H., *Modular semi-ordered spaces*, Tokyo, Japan, 1959
- [8] Rakočević V., Quasi contraction nonself mappings on Banach spaces and common fixed point theorems, *Publ. Math. Debrecen*, 2001, 58, 451–460
- [9] Ume J.S., Fixed point theorems related to Ćirić contraction principle, *J. Math. Anal. Appl.*, 1998, 225, 630–640